
Arithmetic Challenge 3

8 × 8 =             32 ÷ 4 =             212 + 380 =                 

745 – 514 =             36 ÷ 3 =             3 × 7 =             

237 + 162 =                 947 – 123 =             411 + 568 =             

4 × 9 =             27 ÷ 3 =             651 + 107 =             

7 × 8 =             689 – 232 =               88 ÷ 8 =             

visit twinkl.com

https://www.twinkl.co.uk/resources/keystage2-ks2/ks2-maths/ks2-calculations


Arithmetic Challenge 3 Answers

8 × 8 = 64 32 ÷ 4 = 8 212 + 380 = 592

745 – 514 = 231 36 ÷ 3 = 12 3 × 7 = 21

237 + 162 = 399 947 – 123 = 824 411 + 568 = 979

4 × 9 = 36 27 ÷ 3 = 9 651 + 107 = 758

7 × 8 = 56 689 – 232 = 457 88 ÷ 8 = 11
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